WOODWORKING SYSTEM

This handsome Bread Box project
incorporates a basket-weave and

stylized wheat motif for a unique
and useful addition to any
kitchen!

The project features sturdy
dado construction and is carved and
cut out using just the two bits that were
included with your machine - no other bits
are required. The finished Bread Box is
about 162" W x I13"D x 8" H.

The Wheat & Weave Bread Box
project also makes a great
complimentary piece to the
Tea Box project available
online at the CarveWright Store
(http://store.carvewright.com).

Designed by Michael Tyler 04/2010
www.carvebuddy.com

Wheat & Weave Bread Box

Designed for CarveWright™ by Michael Tyler - www.carvebuddy.com

Main items you will need:

1) The Project Files (included):
* BreadBox FRONT&REAR.mpc
* BreadBox_SIDES.mpc

2) Boards with the following dimensions:
Front & Rear mpc: 75" x9.25" x 38"
Sides mpc: J5" x9.25" x 34"
NOTE: Do not use boards that are
smaller than specified above.

Cut the following pieces to size (not mpc’s)
Top Board: .75" x 10.125" x 15.25"
Bottom Shelf: 3/8" Plywood, 11.25" x 15.5"

3) Decorative knob, 4 popsicle sticks, one
small birthday candle, gold paint marker

4) Two thin #10 nylon washers, four self-
stick vinyl or felt or cork pads, 3/16" dowel

5) Drill, sandpaper, glue, clamps, wood stain
and/or paint and clear finish

6) A Dremel-type rotary tool with assorted
sanding wheels and bits to sand small details
and speed up preparation for finishing.

CarveWright Project Tutorial
www.carvewright.com




Wheat & Weave Bread Box

STEP 1
Start your Designer software and open the .mpc files.
(fig. 1a)

3% hrs.
BesT OR opTIMAL

6% hrs.

S T e -

BreadBox_SIDES.mpc
(two-sided mpc)

5 hrs. 10% hrs.

BesT OR opTIMAL

All you need to do at this point is upload the project
files to your memory card. (File/Upload). When you
upload, you may or may not get a pop-up window with
an “Auto-Jig” warning message (fig. 1b)

W5 Auto-Jig

The carvings in this praject are arranged in a way that may
inkerfere with the machine's mechanics, requiring a manual or
auktomatic jig. Specifically:

* Cut-thraughs along the Far left edge may break cutting
bits due to the board leaving the aux raller.

¥ou may choose to ignore the condition {which may cause incorrect
behaviar of the machine), manually jig, or allow the machine ko
automatically jig by leaving extra board space around the project
during the cuts,

Ignare Marual Jig | |5 . Adto Jig,...
fig. 1b
Designed by Michael Tyler
Page 2 www.carvebuddy.com

(cont.)

If you do see the message, you may safely click on
“Ignore” because our actual boards will be large
enough that it won’t cause any problems at all. After
each project is compiled, select “Best” or “Optimal”
for the File Quality setting.

Click “OK” and upload each mpc project file to your
memory card. Insert the card into your machine and
load a board that measures the appropriate dimension
specified for each particular mpc (see page 1 for board
dimensions). Turn on your machine and proceed with
the standard project setup in Step 2...

STEP 2

You will see “Project Menu” on your LCD display.
Press “1”” and scroll to BreadBox FRONT&REAR.mpc
project, and press the green ENTER button to select it.
Then follow the additional prompts....

 Stay Under Rollers - press 1) YES

* DO NOT RESIZE or SCALE the projects! If
prompted, always Keep the Original Size. No scaling!

* How To Place - press 1) Center
* Cut Board to Size? - press 2) NO

* Select Vector Bit: 1/8" Cutting - Press ENTER. The
machine will move the bit holder to the center of the
machine in preparation for the bit installation.

* Load Bit:1/8" Cutting -Insert your 1/8" cutting bit,
then press the green ENTER button. (homes, etc.)

* Select Cutting Bit: 1/8" Cutting - Press ENTER.
(Nothing happens - bit is already installed)

* Select Carving Bit: 1/16" Carving - Press the green
ENTER button. (Moves to center of machine.)

* Load Bit: 1/16" Carving - Remove the 1/8" cutting
bit, insert the 1/16" carving bit, then press the green
ENTER button. After homing and finding surface, the
machine will begin the carving process.

* After it is done carving, you will be prompted to
load your 1/8" cutting bit. Remove the 1/16" carving
bit, insert your 1/8" cutting bit, then press the green
ENTER button. Cutouts are always done last. (cont.)

CarveWright Project Tutorial
www.carvewright.com



Wheat & Weave Bread Box

STEP 2 (cont.)

* The machine will now proceed to perform the cutouts
as it moves around the component outlines. It leaves
little tabs to hold the parts in the board. When the
machine is finished, remove your board and clean your
machine of excess sawdust.

* At the “Project Menu” Press “1” then scroll to the
BreadBox_SIDES.mpc, load your board and press the
green ENTER button. This mpc is a TWO-SIDED
carve! The machine will carve the shelf dados on the
BACKSIDE first. Follow the additional prompts
closely....

« Stay Under Rollers - press 1) YES
* Press Enter to Proceed: Board (BACK) Press ENTER

* DO NOT RESIZE or SCALE the projects! If
prompted, always Keep the Original Size. No scaling!

* How to Place... - press 1) Center

* Cut Board to Size? - press 2) NO

* Select Vector Bit: 1/8" Cutting - Press ENTER. The
machine will move the bit holder to the center.

* Load Bit:1/8" Cutting -Insert your 1/8" cutting bit,
then press the green ENTER button. The dado cutting
will be performed.

* After it is done with the back, you will be
prompted to “Please Flip Piece”. Raise the head of
the machine to prepare to flip the board over.

* Please Load Piece: Board - Brush off the board,
and flip the board over width-wise, NOT end to end!
(see fig. 2a). Put the board back into the machine
(blank side up) and crank down the head.

/ 7 /

Flip the board over width-wise

* Press ENTER to Proceed (will measure board again)

Designed by Michael Tyler
www.carvebuddy.com

Page 3

(cont.)

* Select Drill Bit: 1/8" Cutting - Press the green
ENTER button. The machine will move the bit holder
to the center of the machine.

* Load Bit:1/8" Cutting - The 1/8" bit is STILL in the
chuck from doing the backside! Just press ENTER.

* Select Cutting Bit: 1/8" Cutting -Just press ENTER.
(Nothing happens - bit is already installed)

* Select Carving Bit: 1/16" Carving - Press the green
ENTER button. (Moves to center of machine.)

* Load Bit: 1/16" Carving - Remove the 1/8" cutting
bit, and insert your 1/16" carving bit, then press the
green ENTER button. After homing and finding
surface, the machine will begin the carving process.

* After it is done carving, you will be prompted to
load your 1/8" cutting bit. Take out the 1/16" carving
bit, clean the chuck and insert your 1/8" cutting bit.
Press the green ENTER button. The machine will now
proceed to drill the two holes, then perform the cutouts
as it moves around the component outlines.

When the machine is finished, remove your board and
clean your machine of excess sawdust. Your boards
will look like this...(fig. 2b)

BreadBox_FRONT&REAR.mpc

—

E 3

BreadBox_SIDES.mpc
(back of board)

=
|

BreadBox_SIDES.mpc
(top of board)

CarveWright Project Tutorial
www.carvewright.com



Wheat & Weave Bread Box

STEP3
Separate all the pieces from the boards with a utility
knife or hobby saw. (fig. 3a)

o

s

7

Sand offt the tabs then sand all the components to
remove any fuzzies and undesirable tool marks. Use a
Dremel-type rotary tool to make the job go faster.

I use 3M Radial Bristle Discs (80-grit and 220-grit)
from www.mcmaster.com to safely remove fuzzies

from carvings without loss of detail. I stack 3 discs at a
time on a 3/32" dia. mandrel. (fig. 3b)

I also used a fine-point bit in my Dremel to get into
tight spots where the discs can’t reach. (fig. 3c)

Designed by Michael Tyler
www.carvebuddy.com

Page 4

(cont.)

STEP 4
Dry fit the sides to the .75" x 10.125" x 15.25" top board
and the 3/8"x 11.25" x 15.5" plywood shelf to make
sure everything lines up properly. Place the front door
in position as a spacer. After verifying proper fit, apply
wood glue to the components and re-assemble.

(fig. 4a)

NOTE: Do not apply glue to the door front! You re just
using it as a spacer at the moment.

Wipe away any excess glue with a damp rag before
replacing the door as the spacer. Securely clamp the
glued assembly together, and allow to the glue to set.
(fig. 4b) _— —

o

After the glued assembly has dried, remove the clamps
and place four popsicle sticks under the door bottom.
Arrange the door so that the edges are flush with the
sides angle, then tape or clamp the door in place.

(fig. 4c)

(cont.)

CarveWright Project Tutorial
www.carvewright.com



Wheat & Weave Bread Box

STEP 4 (cont.)

We need to drill holes into the door ends for the dowel
hinges. Before drilling, put a masking tape ‘flag’
around a 3/16" bit at 1’2" from the bit tip so you can
tell when the bit has gone into the front door ends

about %" deep. 5
(fig. 4d) ?

With the door temporarily secured in position, drill
3/16" holes into the door ends, using the side panel’s
pre-drilled holes and bit flag marker as your guides.
The door must not shift position while drilling - so be
sure it is secure before drilling the dowel hinge holes.
(fig. 4e) . '

Hole Closeup

Cut two 2" lengths of 3/16" dowels. Sand each dowel so
they slide easily through the side panels and fully into
the door holes. (fig. 4f)

Designed by Michael Tyler
www.carvebuddy.com

Page 5

(cont.)

Remove the door and sand each of the ends so there is
no binding at the side panels and enough clearance to
allow for the thickness of the #10 nylon flat washers.
Reinstall the door
with the washers
and test the door
action. When
satisfied with the
fit, remove the door
and set the washers
and dowels aside.

(fig. 4g).

STEP 5 - Finishing

Apply stain/paint and clearcoat of your choice. (fig. 5)
Here’s what I used on my Bread Box made from Select
Pine:

- Cabot brand Pre-Stain

- Minwax Golden Pecan stain #245

- one coat Bullseye Amber shellac

- two light spray coats of Krylon clear acrylic

- two coats Minwax water-based Satin Polycrylic
* Krylon Gold Leaf Paint Marker on lettering

STEP 6 - Final Assembly
Once your finish is completely dry, re-install the door

and mark the excess dowel length with a pencil.
(fig. 6a) il

(cont.

CarveWright Project Tutorial
www.carvewright.com



Wheat & Weave Bread Box (cont.)

STEP 6 - Final Assembly (cont.) Install a decorative knob, if desired. (fig. 6g)
Remove the dowels pr= e i
and cut them about ' % i,

1/8” shorter than
your mark. (fig. 6b)

-

Use a small
diameter birthday
candle to wax the
inside of the door
holes. (fig. 6¢)

Stick-on four protective pads under the side panels.
(fig. 6h)

ig. 6o [

Tack the flat
washers in place on |
the inside of the

side panels with a i
tiny drop of glue. I = °
used CA Glue. >
(fig. 6d)

fig. 6d

Apply a dab of
wood glue to the
dowel area that will .
NOT come into
contact with the
waxed door holes.

(fig. 6e) B
ek ST

Replace the door,

insert the dowels so the ends
are flush with the side panels
and wipe off excess glue. R
Apply a matching finish to the
dowel ends or leave natural, |
as desired. (fig. 6f) fig. 6f

IN CONCLUSION

I hope you have enjoyed your Wheat & Weave Bread
Box project and that it finds a very useful place in your
own kitchen!

Happy Carving!

“hechacl

Designed by Michael Tyler CarveWright Project Tutorial
Page 6  www.carvebuddy.com www.carvewright.com



Materials Source Page

* 3M Radial Bristle Discs from www.mcmaster.com
(stack 3 discs at a time on your rotary tool mandrel)
80-grit: part # 4494A19 =@ 3

.I'.l'n'

220-grit: part # 4494A18 =

Krylon Clear Gloss Acrylic ﬁb-:-omu-rﬁ-ﬂﬂ |
Ectine, Mon !
from WalMart™ 5, (ClearFinlsh

T ang

Miscellaneous Items Purchased at Lowes™

* 3/16" wooden dowel

* #10 Flat Nylon Washers

* Decorative knob

* Self-stick round pads

* Minwax Stain - Golden Pecan #245

* Bullseye Amber Shellac

* Minwax water-based Satin Polycrylic
* Denatured Alcohol

* Disposable Brushes and Paint Rags

Krylon Gold Paint Marker
from Michael’s Arts & Crafts™

Designed by Michael Tyler CarveWright Project Tutorial
Page 7 www.carvebuddy.com www.carvewright.com


http://store.carvewright.com//home.php?cat=263

Additional Resources

RESOURCES...
There are numerous resources for the Carve Wright/CompuCarve owner to make their experience with these
machines much more enjoyable.

Every owner should join the CarveWright User Forum (http://forum.carvewright.com/index.php) where fellow
users share their experiences and knowledge with these machines on a daily basis. It is a FREE service that you will
surely appreciate. A handy Search Feature helps you find answers to any questions you may have.

patierns

Shop through the largest collection of patterns on the web!

Collections

Look through top quality collections which allow you to
purchase many patterns at one time for an even lower price!

PIrojects

Purchase complete project patterns with instructions to
build immediatly!

v Project "™
ewslettere L7 A
Subscription ' . a

12 PROJECTS FOR ONE LOW PRICE  picuure of aume'sPro

The trademarks, service marks and logos (the “Trademarks”) used and displayed here are registered and unregistered Trademarks of LHR and others.

Designed by Michael Tyler CarveWright Project Tutorial
Page 8  www.carvebuddy.com www.carvewright.com


http://forum.carvewright.com/index.php
http://store.carvewright.com//home.php?cat=263
http://carvewright.com/store/home.php?cat=261
http://carvewright.com/store/home.php?cat=258
http://carvewright.com/store/pattern.php?vendor=carvebuddy

	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

